ENFaitX —iERMRE LD SRR CH 1 S 2 MR EMNERR

wiE:HORIBA PA-1000

B uSv/h  BIES:100cm

EeH:HHM6FE1TAS58(X)

o= FaEh) | F2=(ER) | EB3Mm(m) | B4R () | E5MBR(BE)
SBIERFZ 15:07 14:55 14:45 14:35 15:20
BIEE 0.054 0.049 0.047 0.057 0.055
BOMEILE 0.005 -0.005 -0.001 0.005 0.007
EeH:SH6FE11811H(A)

= Siadh) | F2M=(R) | E£3tm(m) | H4im(F) | S5 (BE)
SAIERFZ 15:07 14:55 14:45 14:35 15:20
HIEE 0.055 0.051 0.049 0.056 0.049
miIElLL 0.001 0.002 0.002 -0.001 -0.006
EeH:5fM6FE11818H(A)

it = Sitm(db) | F2Mm(ER) | £3M=A(F) | F4tm(F) | E5tm(BE)
SAIERFZ 15:07 14:55 14:45 14:35 15:20
BIEE 0.051 0.049 0.047 0.052 0.055
Bl -0.004 -0.002 -0.002 -0.004 0.006
EEH:BH6FE11H258(R)

= gim(db) | E2R(R) | £3M=A(m) | F4(F) | E5tR(BE)
SAIERFZ 15:07 14:55 14:45 14:35 15:20
AIEE 0.050 0.054 0.046 0.054 0.052
AiIEIEL -0.001 0.005 -0.001 0.002 -0.003




ENFaitX —iERMRE LD SRR CH 1 S 2 MR EMNERR

wiE:HORIBA PA-1000

B uSv/h  BIES:100cm

EheH:HfM6FE1087H(A)

o= FaEh) | F2=(ER) | EB3Mm(m) | B4R () | E5MBR(BE)
A ERFZ 11:07 10:55 10:45 10:35 11:20
BIEE 0.055 0.050 0.046 0.055 0.052
BOMEILE -0.003 -0.006 0.001 0.000 -0.008
EEH:BFH6FE10A158(X)

= Siadh) | F2M=(R) | E£3tm(m) | H4im(F) | S5 (BE)
SAIERFZ 15:07 14:55 14:45 14:35 15:20
HIEE 0.052 0.050 0.046 0.046 0.049
miIElLL -0.003 0.000 0.000 -0.009 -0.003
EeH:HfM6FE108218(H)

it = Sitm(db) | F2Mm(ER) | £3M=A(F) | F4tm(F) | E5tm(BE)
SAIERFZ 15:07 14:55 14:45 14:35 15:20
BIEE 0.056 0.048 0.045 0.054 0.056
Bl 0.004 -0.002 -0.001 0.008 0.007
EEH:SH6FE10828H(A)

= gim(db) | E2R(R) | £3M=A(m) | F4(F) | E5tR(BE)
SAIERFZ 15:07 14:55 14:45 14:35 15:20
AIEE 0.049 0.054 0.048 0.052 0.048
AiIEIEL -0.007 0.006 0.003 -0.002 -0.008




ENFaitX —iERMRE LD SRR CH 1 S 2 MR EMNERR

wiE:HORIBA PA-1000

B uSv/h  BIES:100cm

EheH:Hf6F9A28(A)

o= FaEl) | F2=(ER) | EB3tm(m) | B4R () | E5R(BE)
SBIERFZ 15:07 14:55 14:45 14:35 15:20
BIEE 0.049 0.044 0.044 0.050 0.047
BOEILE 0.003 -0.010 0.000 -0.003 -0.002
EEH:SH6FE9R9H(A)

= Siadh) | F2M=(R) | E£3tm(m) | B4im(F) | S5 (BE)
SAIERFZ 15:07 14:55 14:45 14:35 15:20
HIEE 0.052 0.050 0.048 0.052 0.050
miIElLL 0.003 0.006 0.004 0.002 0.003
EB:HF6FEIR/17H(KX)

= Fitm(db) | F2Mm(ER) | £3M=A(FE) | F4t(F) | E5tm(BE)
SHIERFZ 15:07 14:55 14:45 14:35 15:20
BIEE 0.052 0.047 0.049 0.058 0.051
Bl 0.000 -0.003 0.001 0.006 0.001
EEH:BFH6FEIR24H (KX)

= gim(dh) | E2R(R) | £L3M=(m) | F4(F) | E5tR(BE)
SAIERFZ 15:07 14:55 14:45 14:35 15:20
HIEE 0.058 0.056 0.045 0.055 0.060
AiIElEL 0.006 0.009 -0.004 -0.003 0.009
EheH:$6FE9H30H(A)

= Fitm(db) | F2Mm(ER) | EB3MA(F) | F4tR(F) | E5R(BE)
SAIERFZ 15:07 14:55 14:45 14:35 15:20
BIEE 0.052 0.049 0.042 0.056 0.050
BiEILL -0.006 -0.007 -0.003 0.001 -0.010




ENFaitX —iERMRE LD SRR CH 1 S 2 MR EMNERR

wiE:HORIBA PA-1000

B uSv/h  BIES:100cm

EheH:Hf6FE8A5H(A)

o= FaEh) | F2=(ER) | EB3Mm(m) | B4R () | E5MBR(BE)
SBIERFZ 15:07 14:55 14:45 14:35 15:20
BIEE 0.054 0.047 0.044 0.055 0.054
BOMEILE 0.000 -0.005 -0.004 0.003 0.002
EEH:BH6FE8A13H(KX)

= Siadh) | F2M=(R) | E£3tm(m) | H4im(F) | S5 (BE)
SAIERFZ 15:07 14:55 14:45 14:35 15:20
HIEE 0.051 0.050 0.048 0.051 0.053
miIElLL -0.003 0.003 0.004 -0.004 -0.001
EheH:Hf6E8HA19H(A)

it = Sitm(db) | F2Mm(ER) | £3M=A(F) | F4tm(F) | E5tm(BE)
SAIERFZ 15:07 14:55 14:45 14:35 15:20
BIEE 0.047 0.051 0.045 0.057 0.050
Bl -0.004 0.001 -0.003 0.006 -0.003
EEH:SH6FE8A26H(A)

= gim(db) | E2R(R) | £3M=A(m) | F4(F) | E5tR(BE)
SAIERFZ 15:07 14:55 14:45 14:35 15:20
AIEE 0.046 0.054 0.044 0.053 0.049
AiIEIEL -0.001 0.003 -0.001 -0.004 -0.001




ENFaitX —iERMRE LD SRR CH 1 S 2 MR EMNERR

wiE:HORIBA PA-1000

B uSv/h  BIES:100cm

EheR:Hf6E7A2B(X)

o= FaEh) | F2=(ER) | EB3Mm(m) | B4R () | E5MBR(BE)
A ERFZ 11:07 10:55 10:45 10:35 11:20
BIEE 0.055 0.047 0.045 0.048 0.043
BOMEILE 0.000 0.000 0.000 -0.005 -0.008
EeH: S H6E7A8H(A)

= Siadh) | F2M=(R) | E£3tm(m) | H4im(F) | S5 (BE)
SAIERFZ 15:07 14:55 14:45 14:35 15:20
HIEE 0.055 0.048 0.047 0.054 0.049
miIElLL 0.000 0.001 0.002 0.006 0.006
EB:HH6ET7A16H(KX)

o= Sitm(db) | F2Mm(ER) | £3M=A(F) | F4tm(F) | E5tm(BE)
SAIERFZ 15:07 14:55 14:45 14:35 15:20
BIEE 0.056 0.046 0.046 0.056 0.048
Bl 0.001 -0.002 -0.001 0.002 -0.001
EEH:SH6E7A22H(A)

= gim(db) | E2R(R) | £3M=A(m) | F4(F) | E5tR(BE)
SAIERFZ 15:07 14:55 14:45 14:35 15:20
AIEE 0.052 0.051 0.047 0.058 0.052
AiIEIEL -0.004 0.005 0.001 0.002 0.004
EheH:HM6E7H29H(A)

= Fitm(db) | F2Mm(ER) | EB3MA(F) | F4tm(F) | E5R(BE)
SAIERFZ 15:07 14:55 14:45 14:35 15:20
BIEE 0.054 0.052 0.048 0.052 0.052
BIEILE 0.002 0.001 0.001 -0.006 0.000




ENFaitX —iERMRE LD SRR CH 1 S 2 MR EMNERR

wiE:HORIBA PA-1000

B uSv/h  BIES:100cm

EheH:Hf6FE6A3H(A)

o= FaEh) | F2=(ER) | EB3Mm(m) | B4R () | E5MBR(BE)
SBIERFZ 15:07 14:55 14:45 14:35 15:20
BIEE 0.052 0.048 0.042 0.054 0.054
BOMEILE -0.003 -0.003 -0.014 0.002 -0.002
EEH:SH6F6R10H(A)

= Siadh) | F2M=(R) | E£3tm(m) | H4im(F) | S5 (BE)
SAIERFZ 15:07 14:55 14:45 14:35 15:20
HIEE 0.054 0.053 0.045 0.055 0.049
miIElLL 0.002 0.005 0.003 0.001 -0.005
EheH:Hf6FE6/17H(A)

it = Sitm(db) | F2Mm(ER) | £3M=A(F) | F4tm(F) | E5tm(BE)
SAIERFZ 15:07 14:55 14:45 14:35 15:20
BIEE 0.057 0.047 0.049 0.054 0.057
Bl 0.003 -0.006 0.004 -0.001 0.008
EEH:SH6F6R24H(A)

= gim(db) | E2R(R) | £3M=A(m) | F4(F) | E5tR(BE)
SAIERFZ 15:07 14:55 14:45 14:35 15:20
AIEE 0.055 0.047 0.045 0.053 0.051
AiIEIEL -0.002 0.000 -0.004 -0.001 -0.006




ENFaitX —iERMRE LD SRR CH 1 S 2 MR EMNERR

wiE:HORIBA PA-1000

B uSv/h  BIES:100cm

EheH:HF6FE5A8H(K)

o= FaEh) | F2=(ER) | EB3Mm(m) | B4R () | E5MBR(BE)
SBIERFZ 15:07 14:55 14:45 14:35 15:20
BIEE 0.056 0.054 0.049 0.056 0.051
BOMEILE 0.001 0.006 0.001 0.003 0.000
EEH:SH6FES58148(KX)

= Siadh) | F2M=(R) | E£3tm(m) | H4im(F) | S5 (BE)
SAIERFZ 15:07 14:55 14:45 14:35 15:20
HIEE 0.050 0.051 0.048 0.055 0.048
miIElLL -0.006 -0.003 -0.001 -0.001 -0.003
EheH:H6FE5H208(A)

it = Sitm(db) | F2Mm(ER) | £3M=A(F) | F4tm(F) | E5tm(BE)
SAIERFZ 15:07 14:55 14:45 14:35 15:20
BIEE 0.054 0.048 0.047 0.053 0.051
Bl 0.004 -0.003 -0.001 -0.002 0.003
EEH:SH6FE5827H(A)

= gim(db) | E2R(R) | £3M=A(m) | F4(F) | E5tR(BE)
SAIERFZ 11:07 10:55 10:45 10:35 11:20
AIEE 0.055 0.051 0.056 0.052 0.056
AiIEIEL 0.001 0.003 0.009 -0.001 0.005




ENFaitX —iERMRE LD SRR CH 1 S 2 MR EMNERR

wiE:HORIBA PA-1000

B uSv/h  BIES:100cm

EreH: 56 F481H(B)

o= FaEh) | F2=(ER) | EB3Mm(m) | B4R () | E5MBR(BE)
SBIERFZ 15:05 14:55 14:45 14:35 15:20
BIEE 0.057 0.052 0.050 0.058 0.049
BOMEILE -0.003 0.001 0.000 -0.016 -0.009
EEH:SH6F488H(A)

= Siadh) | F2M=(R) | E£3tm(m) | H4im(F) | S5 (BE)
SAIERFZ 15:07 14:55 14:45 14:35 15:20
HIEE 0.054 0.054 0.044 0.057 0.047
miIElLL -0.003 0.002 -0.006 -0.001 -0.002
EeH:Hf6FE4815H(A)

= Sitm(db) | F2Mm(ER) | £3M=A(F) | F4tm(F) | E5tm(BE)
SAIERFZ 15:07 14:55 14:45 14:35 15:20
BIEE 0.058 0.050 0.042 0.054 0.053
Bl 0.004 -0.004 -0.002 -0.003 0.006
EEH:SH6FE4R22H(A)

= gim(db) | E2R(R) | £3M=A(m) | F4(F) | E5tR(BE)
SAIERFZ 15:07 14:55 14:45 14:35 15:20
AIEE 0.055 0.048 0.048 0.053 0.051
AiIEIEL -0.003 -0.002 0.006 -0.001 -0.002
EheH:H6FE4HF308 (K)

= Fitm(db) | F2Mm(ER) | EB3MA(F) | F4tm(F) | E5R(BE)
SAIERFZ 15:07 14:55 14:45 14:35 15:20
BIEE 0.049 0.048 0.049 0.047 0.057
BIEILE -0.006 0.000 0.001 -0.006 0.006
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